[

]

B3m HEA
¥R -20 59~

(1) o e —
A P B
FFH 2 | | | | | ] [ ) . | [ | | |
1 ( ) T T T T T T A T T é\ »»»»» I 1 I é T T T
kD
3 | —— ]
3) N w—
AP:PB = AQ:QC kU, F7= AP:AB = PQ:BC &Y,
5:3=3:x & 5x=0 5:(5+43) = 4y > 5y=32
|~ 9 32
2 X=—= . V:\‘ y=— 9 32
5 5.8=4y 5 x =18 (it[i) y =64 (itli j
x=18 y=64 & 5 5
% c LT L £oT.
qujia)flgfié:")\ Sinezizi, Cose—§—§
= C2=32442-9416 g ° ¢S
3 _25 B tan6=§ 4 4
B sin@=—, cosO tanf=—
c=5 & 5 3
._BC 10
sin30°—C—B—E tan30° =
AC X
i 1 10 sin30° =+ t""”?’o
4 —== 2
2
< x=20 & y= 10[ w x=20 vy 1043
EYOESE hEeT D8,
EROIHNZ/e5,
£ 600 =
F'gﬁ 1?]0 tan60° =/3
o B=L
o T00m- P h=100\/§ = 100\/§ m
in2 2 1+tan26:i &Y 1+(1j2: 1
sin20+cos20=1 0520 . 2 0520
o sin20=1-cos20=1— (12) ) o2 1
13 169 169 4 4 cos20
&sing=+ i <:>c0529:4<:>c059:+\/2:i2
"1z 3 13 5 NG
. 2
i3] Sin O [ZIEDBELD. sin6 CosOIFIEDIELY. cosO=—
Al @ 75
5) sin®
. — EJj tane——J:")
Xz, tamez—sm9 :(13 _ 3 cos
cos® (12) 12 sineztanexcose:lxi:i
13 2 5 b5
% sinG:%\ tan6=% 2 sin9=%s c059=%




[B2Z)

HFEA

B1mE HEA
¥R -20 59~

tan(90°-0) = ! EUN
" €0s(90°—0) =sin® kU, tan®
7 | @ | cos75°=cos(90°—15°) =sin15° ) nge -~ 1aN(00°—~50°) = tan 40°
% sinl5° & tan40°
1 . .
i 2 ino— 2 —————— —(1-sin®)(1+sin6
(SII‘.19+COS 9? +(sin 6 —cos 0) T tanZo ( )( )
=sin 02 + 2sin 6.cos 0 + cos 02 1 L sin?
. . Y — cos
+5in 62 — 2sin 6 .cos 0 + cos 62 1 (1-sin20)
F'gﬂ (1) | =2sin62+2cosH? 2) cos2 0
— 1 2 2 — 20— in?2
=2(sin6 +Co —C_OSZ 0 1+23|n 0
=2 —oin- 0 eos
=1-1
& 2 =0 & 0
Challenge RE%8
BEORN B10&312, CLY#ES QB =y &fBLE X ADEELY
ABIZERRE TR ALIZEE,
(SERROED =%X(F§5@)X(EE§) ZORREQET B, X=yr e @
CQNEIEhEBLL, F7= AQ = 6c0s30° KLU,
= =AOeSERDD, h=6sin30° ---- @ y=8-AQ=8-6c0s30° ---@
AABCHOEHESEBCE, | £ TQIRD. QERAT DL
a1 s-L an X2 = (8— 605 30°)2 + (65in 30°)2
.6 2 =64-96c0s30°+36c0s2 30°+36sin2 30°
FTEJ i _1 ¢ 6sin3oe = 649605 30°+36(c0s? 30° +5in2 30°)
Ac
_ :64—96~§+36:100—48\@
_ & x=+/100- 4843 =/4(25-12/3)
25 —BMIC, SAEKOEES _
© ROBFOBWOUSET, = 225123
S L bcsin
b ==
2 ® A ABCOMHRE =12 x= 24/25-1243
(S : =afoEE ) |
INA B RUEE —MBAIC. EREOL SE=HR
e ICT. ROEBHRISET,
a2z =b2+c2—-2bccosO
COSERERLETFERENNET,
CORREBNTERBED
XERDBCENTEET,
F§ 1) sin120° = \/25 , sin180°= 0 2 c0s120° = —% , cosl80°= -1




